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S A
X XH .
(=

chel:

K- B3 S (3IH) - MEAY - B A Ak o gggf; HRS2
ox&ZU=Rstn Nd2d 480,000
HEIIBAIYE &= 22,086,752 15,344,400 6,742,352
g 10,600,000
11,486,752
SSHESAE &= 4,415,152 4,045,800 369, 352
201 B9y 2,000 2,000 0
01 AtR22id] 2,000 2,000 0
OXM=ESAIE BX H& 2,000
202 O44| 13,152 13,800 A\ 648
01 =ZUWdHI 13,152 13,800 A 648
OSEASALY BHS U HHFY 7,102
OSSHEAIE ESAMY =& 6,050
403 XXISHHSA20|H 4,400,000 4,030,000 370,000
01 XXSHA=2EX 4,400,000 4,030,000 370,000
OM443 ZAZ0INSUH KR (EHH) 2,000,000
OBBHSAIE &F(140AIY) 2,400,000
H AQUIAIA plEEal(=21]) 1,700,200 0 1,700,200
iy 1,000,000
= 700,200
403 XNXEHHMSA=20lH 1,700,200 0 1,700,200
g 1,000,000
= 700,200
01 XXESHA=2EX 1,700,200 0 1,700,200
OFd AYUad 222 d 1,700,200
rag 1,000,000
o= 700,200
2= =S HE(21D) 3,230,200 2,889,800 340,400
g 1,900,000
== 1,330,200
403 AXSHHSA20|H 3,230,200 2,889,800 340,400
g 1,900,000
= 1,330,200
01 XXSHA=2EX 3,230,200 2,889,800 340,400




2A MEsELAEN
B Us AR AT AH(SHLBT/HR)
&2l MFIIBAIE =E (e &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
CATZTEHHMS2 AHE 3,230,200
s 1,900,000
= 1,330,200
A ESEEIE A (=) 850, 100 1,020,000 A 169,900
s 500,000
& 350, 100
403 AXIEHXHSKH201H 850, 100 1,020,000 A 169,900
s 500,000
< 350, 100
01 XXSHHA2EX 850, 100 1,020,000 A 169,900
OAF E2EZJIE AE 850, 100
s 500,000
& 350, 100
A MEHsSE TH(2D2) 500,000 500,000 0
s 500,000
403 AXIEHXHSAH201H 500,000 500,000 0
s 500,000
01 XXSHXMA2EX 500,000 500,000 0
CYFMEN=ZH =4 500,000
s 500,000
sl 8572 24(=21) 850, 100 0 850, 100
s 500,000
L= 350, 100
403 XXM ESX201H 850, 100 0 850, 100
s 500,000
& 350, 100
01 XXSHXMIA2EE 850, 100 0 850, 100
O=ol MdEERE =& 850, 100
s 500,000
== 350, 100
Sofl TE2sd 22 (=20) 1,700,200 2,209,600 A 509,400
s 1,000,000
& 700,200
403 XXM EX20IH 1,700,200 2,209,600 2509,400
s 1,000,000




A MEALAN
HH: As HS LAC AE(SSUB/HS)
Sl MEFIIEAIE &5 (Ste &)
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
403 ANXSHHSAE0H T 700,200
01 XXESHA2EE 1,700,200 2,209,600 509,400
oSl Segesd 2z2ed 1,700,200
o 1,000,000
o= 700,200
=X OIXXCIOFRE XM(=21) 850, 100 849,800 300
g 500,000
= 350, 100
403 XNXIESHMSA=20lH 850, 100 849,800 300
g 500,000
= 350, 100
01 XXESHAE2EX 850, 100 849,800 300
Ox= QIXXCIOFFE =4 850,100
iy 500,000
o= 350,100
=X EER2ESH 2249 (=2D) 680,200 0 680,200
g 400,000
== 280,200
403 XXISHHSA20|H 680,200 0 680,200
g 400,000
& 280,200
01 XXESHA=2EX 680,200 0 680,200
Oxx SEg=2sd 2224 680,200
rag 400,000
o= 280,200
2d EUssds2d 24(=21) 850, 100 0 850, 100
g 500,000
< 350, 100
403 XXSHHSA20|H 850, 100 0 850, 100
g 500,000
= 350, 100
01 XXSHA=2EX 850, 100 0 850, 100
0248 EUESEN=E3d =4 850, 100
g 500,000
& 350,100




A MEALAN
HE: 28 HS AT AE(SHUZB/HS)
Sl MEFIIEAIE &5 (e &
SHRI(B1) - HISAY - B A Ao gggf; HRS2
510,000 679,600 A 169,600
g 300,000
= 210,000
510,000 679,600 A 169,600
g 300,000
< 210,000
S A28 X 510,000 679,600 A 169,600
510,000
g 300,000
== 210,000
850, 100 0 850, 100
g 500,000
= 350, 100
850, 100 0 850,100
rag 500,000
== 350, 100
SHHA2EX 850, 100 0 850, 100
850, 100
g 500,000
= 350,100
850, 100 0 850, 100
g 500,000
& 350, 100
850, 100 0 850,100
g 500,000
= 350, 100
850,100 0 850, 100
850, 100
g 500,000
T 350,100
850, 100 0 850,100
g 500,000
& 350,100
850, 100 0 850, 100
g 500,000




SA: HSHAAD
M U S YA AH(2HUBZ/NEK)
ol MSIIBIAIE =5 (B9l ®2)
_ _ MNuE o
SN EB -GS - MBAY - BES 0 & 24 e HRE2
403 XIS SAHZO0IH = 350, 100
01 RXSHX=2E 850, 100 0 850, 100
O3t® M2 AY 850, 100
= 500,000
= 350, 100
o9 AOI2IIE A (21) 3,400, 100 2,889,800 510,300
7 2,000,000
= 1,400, 100
403 TXIEHHSHZO0IH 3,400, 100 2,889,800 510,300
7 2,000,000
< 1,400, 100
01 RXSHIZ2E 3,400, 100 2,889,800 510,300
0% AOIZZIIE Y 3,400,100
=) 2,000,000
= 1,400, 100
MEHWs 2 i sS4 10,173,049 9,723,980 449,069
p 222,500
= 9,950,549
T Mot HMSEH 29 XS 7,006,430 6,671,000 335,430
307 BI2to0lA 7,006,430 6,671,000 335,430
02 PIHAMEE 7,006,430 6,671,000 335,430
O=HMS3 X 6,100,000
OZMEHSYS X 906,430
AZXZY NS (2D) 282,100 282,100 0
p 197,500
= 84,600
307 SI2tolA 282,100 282, 100 0
g 197,500
= 84,600
02 PIHAMEE 282,100 282,100 0
OAZXZY AYSY 282, 100
p] 197,500
< 84,600
ZOHOIHI S &4 5t 1,569,507 1,431,310 138, 197
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HEsHEAEL
2E HE LA AEH(2SL2Z/HS)
dEUal 2 2l |4

SN B O (BH) - MEAR - B A O] &k o8 Soe HlmE2
202 O4Hl 4,765 5,000 A235
01 SLHAHbI 4,765 5,000 A235
O H=s&s K& 4,765

307 giz2told 1,535,742 1,378,310 157,432

02 BIZHANE X 1,461,742 1,312,310 149,432
OEZHOeIM=Eal X& 1,461,742

04 BIZHHAIE X 74,000 66,000 8,000
QXM HM=U=z X 74,000

308 AtXISHHMSOIH 29,000 48,000 A 19,000

01 XXHHILEXZ 29,000 48,000 A 19,000
OOl MEH=s=s0tel XI& 29,000

M=CHsl JHEl 2 &It 1,245,000 1,270,000 A25,000
307 QI2H0IH 1,245,000 1,270,000 25,000
04 QIZHHAIE X 1,245,000 1,270,000 A25,000

OdelE ¥ MEMFUHI 580,000
OHdlE MISHA XA 225,000
OE==0IMEH=UsE &I 100,000
OZAERIMENFU HE 90,000
OMEM=s SSEUa Mzl - XA 200,000
OIS MMM EHIt 50,000

M=s 43 20,012 19,570 442
201 B2 2,600 1,300 1,300
01 At 2eld] 2,600 1,300 1,300

Oz ==At &I - 2PAHIH - & & 1,600

O8l =9 - U2t MZ 1,000
202 OiHl 17,412 18,270 A 858
01 =Wobl 17,412 18,270 A 858

OMEUta M=l L XA 16,412

OMsHH s4 X2 1,000
ZOHQl MEHSUE HA(2D) 50,000 50,000 0

| 25,000

& 25,000
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SN MSHAED
Ha: Us S LAT AH(SHUBB/ASF)
ol MBS SOIEN S (B9l 72)
_ _ HE T
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
308 XX SHHSOIH 62,100 61,200 900
g 62,100
01 XASHMBLRES 62,100 61,200 900
ONZMEHSEIE X2 62,100
I 62,100
MEBHSXT HHX(2D) 899,904 884,940 14,964
p 878,976
= 20,928
307 2I2H0IH 41,856 41,160 696
p 20,928
= 20,928
02 SIANAMNBE 41,856 41,160 696
OMEBHSXTX HHX 41,856
p] 20,928
= 20,928
308 XX EHHSOIH 858,048 843,780 14,268
p 858,048
01 RXSHBHZES 858,048 843,780 14,268
OMEBHSXT X HHX 858,048
ol 858,048
02 HSES XA(2D) 312,064 307,540 4,504
p 281,600
= 30,464
307 212H0I A 60,928 60,580 348
g 30,464
= 30,464
02 SIRIBARE 60,928 60,580 348
0024 HSES X 60,928
g 30,464
= 30,464
308 XHXIEHSOIH 251,136 246,960 4,176
p 251,136
01 RXSHHBLEES 251,136 246,960 4,176
0024 HSES X 251,136




SN MSHAED
Ha: Us S LAT AH(SHUBB/ASF)
ol MBS SOIEN S CEEED
_ _ MNuE o
SAN-ZH - SA(EAH) - NRAY - B Y Ol Ak O BlusZ
5] 251,136
MEHIDY 29(2D) 127,569 141,765 A14,176
| 58,867
= 68,702
308 XXISASOIH 127,569 141,765 A 14,176
| 58,887
= 68,702
01 XXCSHMBLRES 127,589 141,765 A14,176
OMENSRA 2% 127,569
p] 58,887
= 68,702
MSULSH Al A 100,750 0 100,750
| 77,500
= 23,250
308 XXISASOIH 100,750 0 100,750
| 77,500
= 23,250
01 RXSHBHSES 100,750 0 100,750
OXMSHILH P X 100,750
I 77,500
= 23,250
S =2MDE 243 68,820 66,560 2,260
2AASDE 68,820 66,560 2,260
201 Ygreg| 15,650 16,920 A1,270
01 AFS el 4,070 4,040 30
O2MHSDE 4,070
03 A2 11,580 12,880 A1,300
O2MHSDE 11,580
202 o1l 1,620 1,700 A80
01 =Uioit] 1,620 1,700 80
ORMHSDE =7 1,620
01 YsRAD 51,550 47,940 3,610
07 2I2rel=el0it| 9,100 17,550 8,450
CEY Bk 9,100
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SN MSEAED

o L e

HE: Qlg) NE AU SH(MSI=X/ 0l - Had)

o9 HAW S8 Z2IH 29 (el &2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
AN HAEEOAR}E 22 (=21) Il 25,500

308 NXIHHSOIH 25,500 24,000 1,500
Il 25,500

01 AUXHHBLEEZ 25,500 24,000 1,500
OFAY F0AJE 2L (17HAIZ) 25,500
J| 25,500

ANLHAHSSHENYH 22X (2 2) 254,000 246,537 7,463
Il 101,600
& 152,400

307 QIt0IA 254,000 246,537 7,463
Il 101,600
= 152,400

02 QltF&E=X 254,000 246,537 7,463
OXNLEAEBSUELNH 2SS 254,000
J| 101,600
= 152,400

ANSHAHSSTUSHEH ALXA (D) 184,120 190,000 25,880
Il 92,060
= 92,060

307 QIt0IA 184,120 190,000 25,880
Il 92,060
L= 92,060

02 QtFAE X 184,120 190,000 25,880
OXNLEAEUBSUELH ASXH 184,120
Il 92,060
= 92,060

S3FEANE T2 2H(=21) 105,200 147,500 A42,300
Il 99,200
= 6,000

307 QIZ2t0IA 12,000 10,000 2,000
Il 6,000
L= 6,000

02 glZtFateEx 12,000 10,000 2,000
Os3Fa2UEHAd T2 2Y 12,000
g 6,000




D HEEAEN

o L e

0l HE HaE SH(MI=EX/C

D EAYE |4 220 2Y

SN B SRA(EH) - MBEASY - Aro e Hlm= 2

== 6,000

308 XXIEHMSO0IE 93,200 137,500 A44,300
J| 93,200

01 XXHHILEXZ 93,200 137,500 A44,300
OZsEFAUEHAE Z27E 93,200
I 93,200

SSxEAE FAEXSTA IXI(=12) 276,660 280,560 A 3,900
J| 257,220
= 19,440

307 gQiz2told 38,880 38,160 720
| 19,440
= 19,440

02 BIZHEANE X 38,880 38,160 720
OFAEXIST AL BHX KI& 38,880
Il 19,440
< 19,440

308 XXIEHMSO0IE 237,780 242,400 AN4,620
J| 237,780

01 RXSHNBINEXZ 237,780 242,400 AN4,620
OFAEXIST AL BHX KI& 237,780
| 237,780

HAd 2sE 29(212) 241,800 249,800 A8,000
Il 186,000
& 55,800

308 XXIEHMSO0IE 241,800 249,800 A 8,000
J| 186,000
= 55,800

01 XXSHNBNEXEZ 241,800 249,800 28,000
OEAYUZRSE 2Z 189,800
J| 146,000
& 43,800
oot #2A24EZS=H XA 52,000
| 40,000
= 12,000

Hid Sotel #s5(21) 39,000 45,000 26,000




SN MSEAED

o L e

HE: Qlg) NE AU SH(MSI=X/ 0l - Had)

o9 HAW S8 Z2IH 29 (9l &2)
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
HAE S0lel Es(=21) | 30,000

= 9,000
308 AXIEHSOIE 39,000 45,000 26,000
| 30,000
= 9,000
01 XXNHHBIAEXZ 39,000 45,000 6,000
OFAYE S0t E=sAg 39,000
J| 30,000
o= 9,000
HAUEES @ A5 &5 3,013,013 3,026,340 N 13,327
g 281,000
J| 1,654,250
= 241,086
= 836,677
HAEUES L HE SHSHR 2,873 3,000 N127
201 2et2AH| 300 300 0
01 AtR22t2/dl 300 300 0
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